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O get=gZH| 28,400
- N EAg =FHHE 50008 * 3,0008 15,000
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gz 30,000& * 100H * 53| 1,500
- OhelEE @ DR LK
20,000& = 1002 * 38 6,000
- XAOHEAl $E2IIE B
30,000& = 308 * 45 3,600
-=ML®s 2= HM&  5,000,000& = 14 5,000
O 284 2,240
- FNSFEEg 23 AL
70,000& * 821 * 43| 2,240
O Sl 3,780

_22_




]
=

DAY AekAst
L HelEe Jlurate (ere): &g
| SAl - HE . CHR(F]H) - NBAIY - TAS Al OH &EIE Ho=2t
* T R B i o ) ° . = * dos =5 0:”/‘l|_% Lsa
- AE"EF 7,000& * 32! » 180 3,780
02 22234l 3,000 3,000 0
O AMEEHIRX 3,000
- =MLsd 2| 3,000,000& = 14 3,000
202 (4| 122,380 58,800 63,580
01 =LA b 4,580 3,000 1,580
O hegsy 4,580,000 = 14 4,580
03 =2 AN 117,800 55,800 62,000
O =AMz 2,000,000& = 521 = 23| 20,000
O =Nus =&
2,000,000& * 421 » 2J4= 16,000
O KOHE Al 2,000,000& = 10@! = 404= 80,000
O ZSA It & -3 (ol
600,000& = 121 * 33| 1,800
203 HRF&H| 10,000 10,000 0
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O =Hst2d HEd & A0 =8
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O get+gH| 50,000
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50,000,000 * 1 50,000
202 01t 70,000 50,000 20,000
01 =UotHl 70,000 50,000 20,000
O BOAYFNS(YEHL)
70,000,008 * 14 70,000
203 PRETH| 34,000 20,000 14,000
03 AlZ{ZX@ETH| 34,000 20,000 14,000
O HR2HOAIY WR2ER (FE52e)
34,000,008 * 14 34,000
401 Al HIL 2RI 4,100,000 3,600,000 500,000
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300,000,000% * 14! 300,000
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ozt oyl 155,904 167,904 A 12,000
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801 Oldlbl 7,745,000 9,588,897 A 1,843,897
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= 4,203
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s 6,213
= 4,203
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Al 240,243
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300,0008 * 122 3,600
O 294y 2,100
- JIRAARIRE Y
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O 2zl 7,350
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O AN&ZHIRXI 10,680
- XA EHOIX SXHl 450,002 * 122 5,400
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207 AN LI 19,750 0 19,750
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14,000,000& » 14 14,000
O EEXNZANEEA 2ANE
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= 6,213
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O XZA A2 StESY ST
250,000& * 33CH 8,250
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O grolAgztsl & JIEESH 2s&Y
50,000& * 501 = 10 2,500
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201 et 96,790 102,810 6,020
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O get=&H| 82,780
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12,0003 * 12504 1,500
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12,000& * 3000H 3,600
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O 3223 2 HA 7,500
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12 JIEt2 &= 3,000 3,000 0
O ZAZAIRIE AUl 24
30,000& * 521 x 20 3,000
UAR = 41,700 37,900 3,800
201 Let29H| 20,100 20,700 A600
01 AbR2t2lH| 13,700 13,700 0
O Bt=gH| 9,500
- A2 MAMA HE
5,000& = 7& = 100& 3,500
- HYHE WU elaf 20,0008 * 300 6,000
O =&l 4,200
- HLHRFA 7,000& = 501 = 120 4,200
02 =323l 6,400 7,000 A 600
O 33223 ¥ JMA 5,000
- UetEHOIExE 5,000,000& * 14 5,000
O A&&EHIS XY 1,400
- MY ETZZ )8 e 700,000& » 14 700
- HAMAMEZ Y 22 700,000& » 14 700
202 044l 21,600 17,200 4,400
01 =UioiH| 21,600 17,200 4,400
O 2dgeEw
20,000& * 42! = 10& = 12& 9,600
O HLHRFE
20,0002 * 521 = 10& ~ 12& 12,000
oF Al A} 16,480 17,912 A1,432
01 Let23d| 12,480 13,592 A1, 112
01 AtSR2t2ldl 12,480 13,592 A1,112
O get=gd| 1,980
- TNFPU(EEEL) 50,000& * 10& 500
- 2IAE 20,000& = 12& 240
- 2I)dE 20,000& * 12& 240
- HIYAA AtSE HE
10,0002 * 1& = 100& 1,000
O 2g8=¢ 8,400
- Ao A
100,000& * 72! = 123] 8,400
O Sl 2,100
- HYAAL HR2F=A 7,0008 « 32! x 100 2,100
202 O Hl 3,600 4,320 AT20
01 =ZLHOA I 3,600 4,320 AT20
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O HUMAL 22
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207 Aol 400 0 400
02 & AHHEHH| 400 0 400
O EHAZE O (CADIian) Z2 ) ¢
400,000& * 13 400
abzte| 373,333 158,860 214,473
& 4,203
Al 369, 130
SEMA Al 2 (E ST A 352,150 153,100 199,050
201 2Et23| 232,150 153, 100 79,050
01 AtSR2t2ldl 2,800 23,100 220,300
O Sl 2,800
- 23R AL 2t
7,000 * 421 = 100 2,800
02 =323l 229,350 130,000 99,350
O 3322 % HA 229,350
- XlotalDp Bx 2e|d(BEx)
11,130& = 70m = 12& 9,350
- XNotaI 3= (8ZMEEES)
5,000,000 * 13| 5,000
- SHSH (A2, AEE) MallsF
140,000,000& = 13 140,000
- SHSB(YE2, 24 =ollEH
75,000,000& * 13 75,000
307 BI2t0lA 120,000 0 120,000
05 QIZtEZ2 120,000 0 120,000
O Xatatae /EdE
10,000,000& * 12& 120,000
SSMAt2te| =2 21,183 5,760 15,423
& 4,203
Al 16,980
201 223 13,503 0 13,503
& 4,203
Al 9,300
01 AtR2t2ldl 13,5083 0 13,503
O gBr=gH| 13,503
- SR MA 2elHA M
1,000,000& * 2& 2,000
- XIGHADE LTHAHCE AA(28)
1,000,000& * 2& 2,000
- ITSMN BHEI 442
9,503,000& * 14 9,503
& 4,203
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202 (4 Hl 7,680 5,760 1,920
01 =Wl 7,680 5,760 1,920
O I3 HRFX
20,0003 * 4021 = 8 * 123 7,680
HAR2e| 9,107,930 2,360,894 6,747,036
HAANE 23 3,262,930 2,330,894 932,036
201 LBty 1,129,970 970,330 159,640
01 AbR2t2lH| 102,370 93,010 9,360
O get=&Hl 98,650
- SMNE JHHE FA 4,000,000 = 23l 8,000
- YRHEED Y oYy foFya4R
650,000& * 12& 7,800
- AMAE HEEY 248
3,000,000& = 123l 36,000
- AYASE HUBY 242
11,000,000& * 13 11,000
- 220l SNES 44
200,000& = 13CH = 12& 31,200
- 29I EI1ZAH(12001)  3,000,000& * 13 3,000
- DA T 1,650,000& * 13 1,650
O =t 2,520
- SNERZE S 7,000& * 321 = 120 2,520
O IO/=tl 1,200
- BERE = R
600,000& = 121 * 23] 1,200
02 =234l 1,027,600 877,320 150,280
O 3322 % HMA 918,600
- ®I23(2Y, gey)
50,000,000& * 12& 600,000
- SAA MNEESS 20,000,000& * 12& 240,000
- Mot ER3 (28, 99e)
5,000,000& = 123 60,000
- IERLYRES 8,600,000& * 13l 8,600
- SEMEREZ 3,000,000& * 23| 6,000
- HAZHA(2E, guuy)
1,000,000& * 23] * 2JH 2 4,000
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202 04 H| 12,960 11,520 1,440
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O EAAIE THZHI 60,000,000& = 14 60,000
O sAE =sSHOIZE ¢ 5,000& * 1007H 500
O sM&E gtdlel #Y 5,000& = 10074 500
O 2ME Yo2ME 2T 79
6,000,000& * 1JH 6,000
307 212t01& 1,393,400 1,278,044 115,356
05 QIZtREF 1,393,400 1,278,044 115,356
O A2 1,333,400,000& * 14 1,333,400
O AAsHHEZZ20d 2% 5,000,0008  12& 60,000
401 AIEHIZ2b] 479,600 15,000 464,600
01 Al&t| 479,600 15,000 464,600
O AEA HAEJAUPS)SAX WXl
490,000& * 45004 220,500
O ANEA 22N B (FFHAstHH2 28)
3,000,000& * 3= 9,000
O AMEAF JIHASR 2H EHMAR/X &EX
700,000& * 13J4 9,100
O ZANEEHSHESBMNZLEX, ELE2X
2 5) 10,000,000& * 3& 30,000
O SAE SEAMNLAEY HAZL
10,000& * 100m 1,000
O AEASZI(ES-D2)H2 PEAHAE
2,000,000& =* 5% 10,000
O AMEA 23 NSEX
200,000,000& * 14 200,000
405 XH&HFSHI 180,000 0 180,000
01 AHaL 2B FH S| 180,000 0 180,000
O SNE SEANYE B24(2&,A01HE 88)
150,000,000& * 1JH4 150,000
O sAE HEZNE 30,000,000& = 10 30,000
FH1s FAF 2,835,000 30,000 2,805,000
201 Lt 30,000 30,000 0
01 AtSR2t2ldl 30,000 30,000 0
O gx=z 30,000
- 413 SAEA Lt
2,500,000& = 123 30,000
401 AIEHIZ 2O 2,805,000 0 2,805,000
01 Al&HI 2,800,000 0 2,800,000
O J41s 8= 2,800,000,000& 2,800,000
03 Al =204y 5,000 0 5,000
O 8Jlhl8 s ==& 5,000,000 * 13| 5,000
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O ZHASAIRA &= 3,000,000,000& * 14 3,000,000
03 AIZ20i4l 10,000 0 10,000
O HASARL AF 10,000,000& * 14 10,000
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532 014 50,0008 * 179! » 128 10,200
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ohara 81,960

_39_




ro g2
JY 0x
Ho Fo 02

02 02 02

B G9(B) - HRAIY - BES sk oy e
¥ Jls M 50,000 * 621 = 123 3,600
¥ J|AL 30,000& * 1672l * 12& 60, 120
¥ AFH DAL 20,000& * 769! = 12& 18,240

JEUR SO +Y 40,560
2t5 Y R (A= H)

50,000& * 62¢! ~ 12& 37,200
=2l Ak 70,0003 * 421 » 128 3,360

HRHRE 80,000& * 49! » 12& 3,840

ot zte| =g 1,080
=E=PN; 30,000 * 121 = 123 360
fIE2 10,000& * 621 = 123 720

HEXed o FHYD 29

40,000 * 4021 = 128 19,200

QIAAR G 30,000& * 1862l * 12& 66,960

HAA R 9,360
39 0l& 50,000& * 15¢! = 12& 9,000
1~34 0Ol¢gt 30,000& * 12! = 12& 360

MAMN=Z 4,080
6= O|ot 20,000& 1721 = 128 4,080

S o 5294y

70,0003 * 40821 = 12& 342,720

Fedx=g(SHER) 6,744

6= ¥ 652 014

40,0003 » 521 » 12& 2,400
=2 7ss 38,000& * 491 = 12& 1,824
8= % 8= 36,000& * 321 = 123 1,296
92 % 98= 34,000& * 321 = 123 1,224

HedsgH(@A2e 8)

270,000& = 162! * 12& 51,840

Sf Ak 19,080
4= 100,000& = 12! * 12& 1,200
55 80,000& = 3¢! = 12& 2,880
6= 60,000& * 5¢! » 12& 3,600
7= 0I5t 50,000& * 19¢!  12& 11,400

M 2RSS 30,000& * 832! = 128 29,880

2e|gReE 4,010
4= 3,712,300& = 121 = 0.09 » 12& 4,010

O E XS 30,000,000& * 5¢! 150,000

ENPIRS SR =y 10,000,000& = 5¢I 50,000

e R= R =y 50,000& * 5¢! = 12& 3,000

SHISH =Y  50,000& * 1421 = 128 8,400

Mel2e=¢ 1,500,000& * 121 = 123 18,000

WEIERE SR =E

550,000& = 221 = 12& 13,200
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AXHE = M HE
HH2AZH(HE L)
elE =g (98
CEN B S(EH) - MRAY - BES 0f et o e DS
O ddaAll 130,000& = 1,807¢ * 12& 2,818,920
O us=ExH| 2,735,160
- 4~55 140,000& = 9921  12F 166,320
- 6732 130,000& = 8842l * 12& 1,379,040
- 8~10= 120,000& = 77421 = 12& 1,114,560
- A2 140,000 = 321 * 12 5,040
- A XIZAF 130,0003 = 45¢1 » 123 70,200
O EE=JHI
37,054,087,000& * 0.6 » 25| = 1/12 3,705,409
O JHAIKI 2|
37,054,087,000& = 0.167 = 14 6,188,033
O &ItE 4
29,734,852,500& = 1/12 = 1/30 = 20& = 0 1,321,549
.8
02 JIEtA 2 == 2,227,925 1,724,383 503,542
O & - oy 3 1,426,810
- 22(20) 1,758,500& = 3921 » 123 822,978
- d32+E 822,978,000& * 1/6 137,163
- s 35,568
i< X+ 40,0002 » 39¢! % 0.9 » 123 16,848
EFILE
20,0003 * 392! % 201 % 1 » 12& 18,720
- NESHHIEx+E 11,348
S 51,9902 = 392! x 0.19 * 43| 1,541
nsstu
419,090& * 39¢! » 0.15 = 43| 9,807
- 323 41,880
259 0l &f 130,0008 = 7¢1 * 12& 10,920
20~25% 012t 110,000& = 6el » 12& 7,920
15~20& 0OI2t  80,000& = 2091 » 12& 19,200
10~15& 0|2t 60,000& » 221 » 12& 1,440
5~10& 0OIgt 50,000& » 491 » 123 2,400
- SJAb=E 50,000& = 12! = 123 600
-d33+ 20,000& = 12! = 123 240
- QYRS 30,000& = 72! = 12& 2,520
- gk 1,200
gra 40,000 = 11 » 123 480
& 30,000& = 221 » 123 720
- US4 130,000& = 39¢l » 123 60,840
- WS 2 AH| 120,000& = 3921 » 123 56,160
- SEFOH
822,978,000& * 0.6 * 28] = 1/12 82,298
- JMAIXI&Hl 822,978,000& = 0.167 » 1 137,438
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AR IRBE M WED
HE: HHE2IAZH (WA D)
DS 2A|
CRA - EB LB - NRAY - B Ak e
— oDt ]
822,978,000& = 1/12 » 1/30 » 20 = 0.8 36,577
O dYE2H LA 361,511
"“ot'g 84,503,000& * 221 » 14 169, 006
‘et'= 38,501,000& = 5@ » 14 192,505
O FH)|alc 61,673,000& » 1& 61,673
O H<A 319,302
- HAUXTA, BASSA
6,433,7343 « 321 x 14 109,302
- FAEX A MY 105,000,000& * 14 105,000
- NS AHH 105,000,000& = 1& 105,000
O GANESARRAS] HAREEZRAR 58,629
- th=01e) 31,167,000& = 121 » 14 31,167
- ets01e) 27,462,000& = 1@l » 14 27,462
204 XA ,949,120 2,892,780
02 Mg EXH| ,949, 120 2,892,780
O A& 750,000& * 1¢l = 12& 9,000
O 2AE 650,000& = 121 = 128 7,800
O 43 40,000& * 10¢! * 12& 4,800
O 55 250,000& * 8921 = 123 267,000
O 6= 155,000& = 40821 » 12& 758,880
o772 140,000& = 47621 » 12& 799,680
O 892 105,000& = 64821 » 12& 816,480
O 10= 95,000& * 126Q! * 12& 143,640
O XN 250,000& * 32!  12& 9,000
O XIZ AL - HLAE 155,000 = 45¢! » 12& 83,700
O E& -4t BF 105,000& * 392! « 12& 49,140
el | 263,049 278,721
101 2144l 219,429 218,901
01 B+ 219,429 218,901
O Al2te 224
7,457 * 67AI2F = 4721 = 12&8 » 0.75 211,339
O sg=2¢ 56,1753 * 421 » 32 » 128 8,090
203 AR 5,220 5,220
04 FN2ILRFAHI 5,220 5,220
O A D302 =1t) 435,000& * 128 5,220
204 X P4 AY| 38,400 54,600
01 g2 1,200 1,200
O ¥ 100,000& = 1¢! « 12& 1,200
03 EZHRH&SH| 37,200 53,400
O NREEER& 100,000 = 1221 » 12& 14,400
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A UXHEZ A ME
A HY2IGUI(ME L)
ool QE 2| (9 E2
AR RN I B(EN) - HEAY - B2 0f & o e HImE 2
O =amoggzes
100,000& * 32! = 12& 3,600
O 2MHggs2d 50,000& =* 4921 = 12& 2,400
O 33 - HetgeEss
50,000& = 102! = 12& 6,000
O ersasgl 50,000& = 1821 = 12& 10,800
Jl23dl 280,721 198,807 81,914
Jl2Z | 280,721 198,807 81,914
201 2EtE3F| 175,721 168,807 6,914
01 AtR2t2ldl 60,998 54,084 6,914
O gBr=gH| 22,958
S IIENS8ETY 500,000 * 122 6,000
S ADMEEY Y S4HIS
200,000 = 4691 = 14 9,200
- SAEXFL 23,1003 * 152tA « 128 4,158
-QME2ERSE 15,0008 * 208 « 12& 3,600
O itz 38,040
- SAHJ| 220,000 « 1CH = 12& 2,640
- el 110,000 * 504 = 12& 6,600
- Xt Axt 800,000& = 3CH * 12JHE 28,800
02 22234l 114,723 114,723 0
O 3323 ¢ dMA 18,723
- ZAIZZIH(B322) 800,000& * 12& 9,600
- NS XHAI(9CH) 2,698,000& = 14 2,698
- NS AZ(9U) 270,000& = 14 270
- AsxEE=(90) 4,155,000 = 14 4,155
- BEMARE2(90H) 2,000,000& = 14 2,000
O XtE&e| 96,000
- ASHeEH ¥ ||
8,000,000& = 123 96,000
405 KtatE S| 105,000 30,000 75,000
01 AHALEESHSHI 105,000 30,000 75,000
O oAt 250,000& * 200H 5,000
O SgHa 100,000,000& * 1CH 100,000

_43_




DRI =
D AAT A EH
=

fe=)
R MSAIE &5

0z N>
J2

] _ . HEE -
A= 2M -3 - SAEH) - MRAY - BES Off &F K Ofl At ot Hws2
MEEAAD 28,243,688 14,263,345 3,980,343
= 121,550
= 1,608,000
o] 421,156
= 1,434,782
Al 24,658,200
ABTA F4 24,561,678 12,480,860 12,080,818
= 50,000
= 1,608,000
o] 157,764
= 1,420,082
Al 21,325,832
HMSAL =5 16,032,800 5,225,933 10,806, 867
= 1,608,000
= 145,000
Al 14,279,800
QELYMI T4 1,000,000 1,605,000 605,000
401 AIEHIL2CH] 1,000,000 1,605,000 605,000
01 Al&t| 1,000,000 1,600,000 600,000
O QEYUTA MAILH
1,000,000,0002 * 14! 1,000,000
HOIOIRE T4 10,000,000 0 10,000,000
401 Al&bl L= 0| 10,000,000 0 10,000,000
01 Al&t| 10,000,000 0 10,000,000
O #QIOFRE 2121 10,000,000,0002! * 1A 10,000,000
MEANE 47 2 24 494,800 524,800 £30,000
= 145,000
Al 349,800
202 Oit| 4,800 4,800 0
01 =2Uoibl 4,800 4,800 0
O MEAN&&X 2 BEIX B S 4252
50,0002 + 491 * 22 * 122 4,800
401 AIEHILLCH] 490,000 450,000 40,000
= 145,000
Al 345,000
01 Al&t] 490,000 450,000 40,000
O MEA& 22A 100,000,002 * 1A 100,000
O =228 &x 100,000,008 * 14! 100,000
O HOESH QXENCITY
40,000,008 * 202 80,000
= 40,000
Al 40,000
O WgHSD 24 210,000,000 * 11 210,000
= 105,000
Al 105,000




0z N>
J2

che|:

DRI =
D AAT A EH
=

fe=)
H=A4E &5

— Tl ) [l
S _ . rSJEN= =
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
SRALIMEYH AE 2,500,000 0 2,500,000
401 AlEHI LS HH 2,500,000 0 2,500,000
01 AI&HI 2,500,000 0 2,500,000
O =8Ag=dy EX0HH
2,500,000,000& * 14 2,500,000
MEYSSE ZE(EE - 483) 363,000 0 363,000
& 313,000
Al 50,000
307 2120l & 313,000 0 313,000
= 313,000
05 It = 313,000 0 313,000
O dels 3] AMERE(LULER)
313,000,000 * 14| 313,000
= 313,000
401 AEHIZ 208 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O NESULANE 018 ==&
20,000,000& = 14l 20,000
O NEHIIZSHeES 20,000,000& =+ 1A 20,000
O &gdx= E1 N 4243
10,000,000& = 14 10,000
Y OietE2s &4 1,445,000 10,000 1,435,000
& 1,295,000
Al 150,000
401 AlEHIZ R0 1,445,000 10,000 1,435,000
= 1,295,000
Al 150,000
01 Al£HI 1,445,000 0 1,445,000
O ggitetEnA =4
1,295,000,000& * 14 1,295,000
= 1,295,000
O EYDtetEDA AAEH HA
150,000,000 * 14! 150,000
SdESHUAZ &X 100,000 0 100,000
401 AlIEHIZ R0 100,000 0 100,000
01 Al£HI 100,000 0 100,000
O HEZHUAEEXSAF &AEH
100,000,000 = 14 100,000
g2Md=IHs38 &4 30,000 0 30,000
401 Al HI LS 30,000 0 30,000
01 Al&HI 30,000 0 30,000
O Etgdd XAl 4 30,000,000& * 14! 30,000
AUHHEYIEE HE 100,000 0 100,000
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NERS S EE SN HSHEAED
Hm: HAACA EA
CHOl MISAIE 23 CERE)
- _ _ Muo
A 2A BB S(BH) - HRAMY - B Y2 Ofl & 24 Sl e HREZ
401 A &HIL 201 100,000 0 100,000
01 Al&HI 100,000 0 100,000
O AUBISOIEE A2l (AAAH)
100,000,000& * 1A 100,000
AL EXNS 43t 5,207,100 4,633,400 573,700
= 1,128,700
Al 4,078,400
oA =RE 29 1,800,000 1,400,000 400,000
306 EH3 1,800,000 1,400,000 400,000
01 8493 1,800,000 1,400,000 400,000
O HUAERH &=A 1,800,000,000& = 14 1,800,000
HEE3UR 54 542,200 474,200 68,000
307 212t01& 539,200 474,200 65,000
02 QIS X 539,200 474,200 65,000
O =243UR S4 XX 30,000,000& + 10l 30,000
O HEBLRSH (552, 100HD)
200,000,000& * 13 200,000
O =8 24+ 84 50,000,000& = 13l 50,000
O HSBUS SUXEK
200,000& = 1821 = 12& 43,200
O M3 NS A2AHI(1291)
1,500,000& * 12 * 12& 216,000
405 KHoHESHI 3,000 0 3,000
01 T =S HSHI 3,000 0 3,000
O =24BUSRSY 2571779
3,000,000& = 1& 3,000
Al EME K& 456,000 476,000 220,000
202 O4Hl 6,000 6,000 0
01 =LA b 6,000 6,000 0
O e S& 50,000& * 602! * 2 6,000
307 212t01& 450,000 470,000 220,000
04 QIHHALE X 450,000 440,000 10,000
O COMA 4+t Bsed 2 EAY)
400,000,000& * 13 400,000
O 2tE 472 HRIE HSHA
0,000,000& = 14 50,000
HoAM=Es 29 ¢ XN& 151,500 124,500 27,000
307 212t01& 151,500 124,500 27,000
02 BlItAAEX 151,500 124,500 27,000
O detAH=s 23 147,000,000& * 14 147,000
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A UXHEZ A MsEAEN
A AUTAl ZH
oo delEXME 243 (9 E2
N MNEH . ClO (5 HEAY . HN 2 A} OH HdE T H =2
O HOAMSE AR YUE
4,500,000& * 12| 4,500
NEN=E 22 2,257,400 2,158,700 98,700
= 1,128,700
Al 1,128,700
101 QI24H| 20,000 37,200 217,200
[ 10,000
Al 10,000
04 JIZtMZ22XRSE+ 20,000 37,200 A17,200
O AFNEE o242 20,000,000& = 14 20,000
& 10,000
Al 10,000
201 LEt23| 5,100 3,000 2,100
& 2,550
Al 2,550
01 AbR22lH| 2,100 0 2,100
O 284 2,100
- QINRIRE] BIOEASY
70,000& * 621 * 53| 2,100
& 1,050
Al 1,050
02 232ZH| 3,000 3,000 0
O 22223 % MA 3,000
- M=sgsdEs INgEEE=
3,000,000& * 14 3,000
= 1,500
Al 1,500
202 Ol 6,300 0 6,300
& 3,150
Al 3,150
01 =LA bI 6,300 0 6,300
O Ug&sd & dXlsd NE
70,000& * 321 = 32 = 103 6,300
& 3,150
Al 3,150
301 LEtEAZ 2,140,000 2,078,500 61,500
& 1,070,000
Al 1,070,000
11 l=te - 2s2SEAS3 2,140,000 2,078,500 61,500
O JEAN=EE olAy| 1,700,000
- SZ(0)E((72) 320,000,000& = 14 320,000
& 160,000
Al 160,000
- 2 (E)E([72) 320,000,000& = 14 320,000
& 160,000
Al 160,000
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NER Lo 2N HSEAEDY
Hm: AACA EA
Cl: delEMs 2435 (¢t &
AR BA - EHH O (3H) - HBAY - BES Of) & 04 dE = SmE=L
0fl &t 01
- HAZE(991) 360,000,000& * 14 360,000
== 180,000
Al 180,000
- HXE(79l) 340,000,000& * 14 340,000
o= 170,000
Al 170,000
- AHOIZ2E(112]) 360,000,000& * 14 360,000
= 180,000
Al 180,000
O 2s8H ¥ 29 440,000
- 28 (H1HE 85,000,000& = 14 85,000
& 42,500
Al 42,500
- 2Y(g)E 85,000,000& = 14 85,000
& 42 /500
Al 42,500
- acE 95,000,000& =1 95,000
& 47,500
Al 47,500
- AIOI2E 95,000,000& * 14 95,000
== 47,500
Al 47,500
- HXE 80,000,000& = 14 80,000
== 40,000
Al 40,000
405 XtarF S| 86,000 40,000 46,000
& 43,000
Al 43,000
01 XAt S EF SHI 86,000 40,000 46,000
O AIOI2E &s& | 40,000,000& = 14 40,000
& 20,000
Al 20,000
O ES=dEHE 25,000,000& * 14 25,000
& 12,500
Al 12,500
O =88 &bl 6,000
-LEZ 3,000,000& * 14 3,000
& 1,500
Al 1,500
- 3 3,000,000& * 14 3,000
= 1,500
Al 1,500
O Hd&E | 15,000
-LEES 3,000,000& * 14 3,000
o= 1,500
Al 1,500
- =4 &) 12,000,000& 14 12,000
& 6,000




A UXHEZ A MsEAEN
NH: AVTA XA
o eEMS 2438 EEEEE]
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T iy o L) ° TNs a3 &= 04| AFOH U=sa
I A 5,000
MENE 243 1,216,528 957,577 258,951
= 50,000
| 157,764
= 126,382
Al 882,382
MEHSANE 2SS XA 139,000 109,000 30,000
201 LEer23| 2,400 2,400 0
02 2223H| 2,400 2,400 0
O 2222 2 MA 2,400
- B+, BHEREE I MEE =
,400,000& « 14 2,400
307 2I2t0|™ 106,600 106,600 0
03 AFBIHMEXZ 13,000 13,000 0
O dadoE 22 € Ny
13,000,000 = 1&HXl 13,000
05 CIZtRIE= 93,600 93,600 0
O &et¥(=2%) 29 1,500,000& = 12& 18,000
O dgdxsa 23 4,600,000& = 12& 55,200
O BZN pIRAUSHE 2o
1,100,000& = 12& 13,200
O &d38 2 (HAE) 600,000& * 12& 7,200
401 AIEHIZ 20 30,000 0 30,000
01 Al&HI 30,000 0 30,000
O BiEolEE oimatHsuE 8RS
0,000,000& * 14 30,000
MEHSHAL XA 421,800 432,400 A 10,600
201 LBt H| 1,800 1,800 0
01 AtR2t2|dl 1,800 1,800 0
O get=EH| 1,800
-HsdE R34 BEFE 60,000& * 302! 1,800
307 QI2tol™ 420,000 430,000 A 10,000
04 QIZIHAIE X 420,000 430,000 A 10,000
O 278 dEd=sUa X3
140,000,000& * 14 140,000
O H193 MEMs=703
50,000,000& * 13 50,000
O HM11al &otA| MEX FE0ISUE
100,000,000& * 13 100,000
O Mozl s=H=ZstMeds =&
70,000,000& = 13 70,000
O M6zl HOLAl LI MEH =SS
20,000,000& * 13 20,000
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SENS SN HSHAED
M AYTA T4
Sl MEHS B (el & 2
- _ _ Muo
AR .2 HH . C(E) - HRAY - BLS 0ff &+ o4 il b o B2
O 2010 EetAtg XHEHH&Z
30,000,008 * 14} 30,000
O M2s| MOLAIZH ME NS Z A
10,000,0002 * 14} 10,000
MEHSEoE 2N 171,000 119,421 51,579
= 31,900
Al 139,100
307 Q201 71,000 119,421 51,579
= 31,900
Al 139,100
02 QIAANBE 171,000 119,421 51,579
O MEHSHIAS 29 66,200,008 * 14 66,200
O MEMSERS 22(014,400H,~60CH)
63,800,0002 * 14 63,800
= 31,900
Al 31,900
O MEBHNSUCK st
250,008 * 129! * 122 36,000
O MEBHSHEIS ARY A2
5,000,008 * 14 5,000
MEZX S X 239,376 188,352 51,024
| 112,488
= 63,444
Al 63,444
307 QI2H0IH 239,376 188,352 51,024
| 112,488
= 63,444
Al 63,444
02 BINANPBE 239,376 188,352 51,004
O MEBHSNCK 12|
239,376,002 * 11 239,376
| 112,488
= 63,444
Al 63,444
MEHS Z2OY 29 30,000 28,760 1,240
307 QI2H0I 30,000 28,760 1,240
02 pIANBABE 30,000 28,760 1,240
O MEASNUET2]Y 29
30,000,008 * 14} 30,000
024 HSES X 71,072 41,856 29,216
| 33,136
= 18,968
Al 18,968
307 QI2H0IH 71,072 41,856 29,216
| 33,136
= 18,968
Al 18,968
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A= MXAHE= A HESELAEDL
HH: AUTA T4
ool dEXs 243 (ctel: &
AR 2N B OR(EA) - NRAY - BHES 0l & CEE Hlm= 2
01l & o
02 QIZtBAE X 71,072 41,856 29,216
O 22U S A 1A
71,072,000& » 14 71,072
J| 33,136
& 18,968
Al 18,968
RAd ATXNA 2F 20,000 20,000 0
= 6,000
Al 14,000
307 212t01& 20,000 20,000 0
& 6,000
Al 14,000
02 2ItBAEX 20,000 20,000 0
O f4E AEZDA 29
20,000,000 = 14 20,000
= 6,000
Al 14,000
AEZ= HIRH At 24,280 0 24,280
| 12,140
= 6,070
Al 6,070
301 LEtE A= 24,280 0 24,280
J| 12,140
& 6,070
Al 6,070
01 AFBIEEEAHZ 24,280 0 24,280
O AEXHIRHM AL (ZH)
20,640,000& * 14 20,640
| 10,320
= 5,160
Al 5,160
O AXXBIRH AMS(ES)
3,640,000 * 14 3,640
J| 1,820
= 910
Al 910
ALEZY NE2Y 100,000 0 100,000
= 50,000
Al 50,000
307 212t01& 100,000 0 100,000
= 50,000
Al 50,000
02 ItAASE X 100,000 0 100,000
O AX=SE ANEAML(EEHZEAZXZY 3
OlAE= 28) 100,000,000& * 14 100,000
= 50,000
Al 50,000
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A=z AAXEEZ A MsEAEN
NB: AT A XA
S@H: UL MSAL A
Al S M. O (B H) - NEAY - B Ofl AFOH dEE ot
= - == T2 ° - =5 T uS = &= 04| AFOH ©
A2 MsHA = 1,562,000 1,461,750 100,250
& 20,000
Al 1,542,000
A2 d=EUa SXXE 802,000 720,000 82,000
& 20,000
Al 782,000
202 O HI 5,000 5,000 0
01 =LHOA b 5,000 5,000 0
O s 50,000& * 32! x 20 3,000
O =M 50,000& * 291 x 20 2,000
203 HRFA 22,000 20,000 2,000
03 AIMFXA 22,000 20,000 2,000
M2 A XS AL 22,000,000 * 14 22,000
I2to| & 775,000 695,000 80,000
= 20,000
Al 755,000
I2ZtENE xR 70,000 50,000 20,000
O K-32/1 K& 70,000,000& * 14 70,000
QI2tSHALE = 705,000 645,000 60,000
O =H & HR2(E2. 4SS
10,000,000& =* 403 400,000
O st=2EZ2T 43U 3
60,000,000& * 14 60,000
M6zl MOISEIE M=z W Ot720Hal
60,000,000& * 14 60,000
T 10,000
Al 50,000
MBSl HMOHAIEHY A H=S S
0,000,000& * 14 30,000
Mi1sl LEIE=SSEEF2USE Nzl
0,000,000& * 14 80,000
= 10,000
Al 70,000
2010 FASTE Ot X153 E=2F0MH=EU 3
5,000,000 * 14 5,000
31EJ|E M3ba TAAD| AIZ2UE S8
Z 3 10,000,000 * 14 10,000
H23l Ols= SEIE DietEU S
30,000,000& * 14 30,000
O H73 RZ=0t2tEUS
30,000,000& * 14 30,000
Uz 235 84 40,000 20,000 20,000
QI2tol & 40,000 20,000 20,000
QIZHSHALE X 40,000 20,000 20,000
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a2 HeE= SN HMSEAED
B AYCAl F4
el IRE MS#A 2 (sl &2
- _ _ Muo
AR .2 FH . H(3H) - HRAY - B 0f Ao Sl ko HRs2
O @=LUEHE R45254
0,000,000& = 14 20,000
O ®IHE 2452 54
20,000,000& * 14 20,000
HOLAIQIHI S 0H 3l 720,000 721,750 A1,750
307 QI2t0IA 720,000 720,000 0
04 BIZFSALE X 720,000 720,000 0
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